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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-4 0
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G3-4_0, Day=28 (2025-06-09)
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G3-4

BYiE) | GEBATK (RY) | EHRE (EAH/K) | ERERE (B/R) | XS ERE

05:55 131 120.0 2.592 = {RRiB005:55 B (REAKEE)
06:30 131 120.0 2.592 F|  {Ri1%006:30 Bah (RF{ESE
07:05 131 120.0 2.592 F[ BRi%e07:05 Bz (RAERSE)
07:50 131 120.0 2.592 S| {Rig@07:50 B (RAERSE)
08:35 131 120.0 2.592 E  1BRi&%e08:35 Bai (RAERE)
09:10 131 120.0 2.592 5| 1RiR@09:10 Bz (KREAEES)
09:45 131 120.0 2.592 S| {Ri%@09:45 B3 (RAERSE)
10:20 131 120.0 2.592 F BRi%e10:20 Bz (GRAERRE)
10:55 131 120.0 2.592 5| {Ri%@10:55 B3 (GRAERSE)
11:30 131 120.0 2.592 =l {Rige11:30 B3 (GRAERSE)
12:15 131 120.0 2.592 E BRige12:15 Bz CGRAERESE)
13:00 131 120.0 2.592 5| {Ri%e13:00 B3 (RAERSE)
13:40 131 120.0 2.592 = RRiB013:40 B (RFAKESE)
14:20 131 120.0 2.592 E BRige14:20 Bz CGRAEREE)
14:55 131 120.0 2.592 El BRi&e14:55 Bz GRAEREE)
15:30 131 120.0 2.592 =l RRiB015:30 B (RFAEESE)
16:05 131 120.0 2.592 =l RRiB016:05 Bz (REAKEE)
16:40 131 120.0 2.592 El BRi&e16:40 Bz CGRAEREEE)
17:20 131 120.0 2.592 F| {Rige17:20 Bzh (RE{EREE)
24t 2489.0 (190%) 2280.0 3ZHKEC: 2500.0, PH: 6.5

FERGERIPH (10.49) 5iGFEPH (6.5) REK K, AT
FERERIPH (10.49) 5FPH (6.5) REKK, T
[El;&EC 4540.0 K5, EiFHKECAE & REER
H#E[ERECE (2855. 0 vs 4540.0) e
LORGEBIPH (10.4) 5i&FEE (6.5) RERKK, BRE.
LORGEBIPH (10.4) S5#REIEN (6.5) RERK, BRE.




G3-4_0, Day=27 (2025-06-08)
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Warning: lcol ["WC1',  "WC2'] missing
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G3-4

BrE) | GEBAKE) | ERE(EH/AR) | EREE (G/R) [ XS R

05:45 131 120.0 2.592 E[ 1BRi&@05:45 Bz (RFA{EREEE
06:25 131 120.0 2.592 5| 1RiIR006:25 Bz (KREAEESE)
07:05 131 120.0 2.592 S| {Rig@07:05 B (KRAERSE)
08:00 131 120.0 2.592 E  BRi%e08:00 Bl (RAERE)
08:45 131 120.0 2.592 F BRi%e08:45 B (RAERE)
09:25 131 120.0 2.592 = {Ri%@09:25 B (RAERSE)
10:05 131 120.0 2.592 E BRi%e10:05 Bz (GRAERERE)
10:45 131 120.0 2.592 = RiB010:45 Bah (RAEESE)
11:20 131 120.0 2.592 =l {Rige11:20 B3 (GRAERSE)
12:10 131 120.0 2.592 E BRige12:10 Bz CGRAERESE)
13:05 131 120.0 2.592 5| {Ri%e13:05 Bz (RAERSE)
13:50 131 120.0 2.592 = RRiB013:50 B (RFAEESE)
14:30 131 120.0 2.592 E BRige14:30 Bz CGRAERESE)
15:10 131 120.0 2.592 =l RiB015:10 Bah (RAEESE)
15:50 131 120.0 2.592 =l RRiB@15:50 B (REAKEESE)
16:30 131 120.0 2.592 = RRiB016:30 Bz (RAKEE)
17:15 131 120.0 2.592 El BRi&e17:15 Bz GRAEREE)
B3t 2227.0 (17%) 2040.0 EWHKEC: 2500.0, PH: 6.5

EREBRIHCRIRAREZI (131 vs 197.0))

EXIASEPRIERE80. 0 ml.
REXEBIPH (10.45) 5i&EPH (6.48) REK K, HRE
REXEBIPH (10.45) 5FMPH (6.5) REKR KA, HFHRE
[E/REC 4203.0 K&, ZiLAIRECAE & IMIEER
#[EKECE (2832.0 vs 4203.0) 1R
EXRGEBPH (10.5) 5i&EE (6.5) REKK, BRE.
ERGEBIPH (10.5) SHEEIE (6.5 REKK, BHRE.
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G3-4

BflE) | GEBRAK @) | ERE(EH/N | EREE (G/R) [ XS R

06:30 131 120.0 2.592 & 1Ri%e06:30 BE1 (RFAEREE)
07:10 131 120.0 2.592 5| {Rige07:10 B3 (RAERSE)
08:10 131 120.0 2.592 E|  {Rig@08:10 Bah (RE{ERSE)
08:55 131 120.0 2.592 5| 1Rike08:55 Bz (KRFIEES)
09:35 131 120.0 2.592 = {Ri%@09:35 B (RFAEZSE)
10:15 131 120.0 2.592 5| 1Ri&e10:15 B (REERES)
10:55 131 120.0 2.592 5| 1RiR@10:55 B35 (REAEES)
11:35 131 120.0 2.592 = {Ri%e11:35 B (RFAERSE)
12:30 131 120.0 2.592 E| {Rig012:30 B3h (RE{ERSE)
13:25 131 120.0 2.592 5| 1RiRe13:25 B (REAEES)
14:05 131 120.0 2.592 = RRiB014:05 B (RFAEESE)
14:45 131 120.0 2.592 E BRige14:45 Bz CGRAERESE)
15:25 131 120.0 2.592 El 1BRi&e15:25 Bz CGRAEREE)
16:05 131 120.0 2.592 =l RRiB@16:05 B (RFAEESE)
16:45 131 120.0 2.592 = RRiB016:45 Bz (REAKEE)
B2it] 1965.0 (15)%) 1800. 0 32 3KEC: 2500.0, PH: 6.5

LRGEB R R IR ER 2N (300 vs 197.0))

BRINSEPRERL183. 0 ml.

FEREERIPH (10.48) 5igEPH (6.5) REK K, FHRE
FEREEBIPH (10.48) 5FMPH (6.5) REK K, FHEE
LRGEBIEC (2844.0) 51REIEY (2340.0) REK K, BHHRE.
LORGEBIPH (10.4) 5i&EE (6.3) RERKK, BRE.
ERGERPH (10.4) S5iRBIE (6.5) RERK, BRE.
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